Qé&m@ Phép trir 3 chir s6
Tén:

- Ngay thang: Diém:___
955 489 524 960 350
=377 -114 —-182 —556 =572
831 790 728 922 464
-625 —-355 -304 -283 -186
285 627 611 826 768
-135 -599 -593 —798 -311
485 729 468 347 828
-260 -607 -186 —336 -501
593 387 796 986 770

-149 -316 -114 -813 —455

www.snowmath.com


https://www.snowmath.com

&mﬂﬂl Phép trir 3 chir s6
Tén:

Ngay thang: Piém:____
955 489 524 960 850
-377 -114 -182 -556 -572
578 375 342 404 278
831 790 728 922 464
-625 —-355 -304 -283 -186
206 435 424 639 278
285 627 611 826 768
—-135 -599 —-593 -798 -311
150 28 18 28 457
485 729 468 347 328
—-260 -607/ —-186 —-336 —-501
225 122 282 11 327
593 387 796 986 770
-149 -316 -114 -813 —-455

iz} 71 632 173 315
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